Name:

- (Transition Words )

Complete the sentences with the correct cause-and-effect transition
words or phrases.

1) 1couldn’t send you an email | hadn’t gotten your email

address. (as a result, so, because)

2) heavy traffic, we couldn’t reach work on time.
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Gain complete access to the largest

4) Kevin has spraineficollection of worksheets in all subjects!fplay in the remaining

games. (since, so,

Not 2 members
5) The restaurants v og Please sign 2% Bad to cook food.
93in complete
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6) www.mathworksheets4kids.com ages were cut off.
(As a consequenc
7) Sheila had an accident, and , she was away from work for
a month. (as a result, so that, because)
8) The departure was delayed by an hour bad weather.
(accordingly, since, because of)
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